efile GRAPHIC print - DO NOT PROCESS

Form 990-PF

Department of the Treasury

Internal Revenue Service

As Filed Data -

DLN: 93491321036800

2019

OMB No. 1545-0052

## **Return of Private Foundation**

or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter social security numbers on this form as it may be made public.
 Go to <u>www.irs.gov/Form990PF</u> for instructions and the latest information.

Open to Public Inspection

or	caler	ndar year 2019, or tax yea	r beginning 01-01-20	)19 , ar	ıd er	nding 12-31-	2019	
		indation UNDATION INTERNATIONAL				A Employer ide	entification numbe	r
C/-	111310	UNDATION INTERNATIONAL				26-1488005		
		I street (or P.O. box number if mail is OHN CARPENTER FRWY STE 800	not delivered to street address;	Room/suite		<b>B</b> Telephone nu	mber (see instruction	ns)
						(972) 947-2781		
		n, state or province, country, and ZIP of 75039	or foreign postal code			<b>C</b> If exemption	application is pendin	g, check here
G C	neck al	l that apply: 🔲 Initial return	☐ Initial return of a	former public charity		<b>D 1.</b> Foreign org	ganizations, check he	ere
		☐ Final return	Amended return				ganizations meeting k here and attach co	
		Address cha	nge 🔲 Name change			·		· -
_	•		501(c)(3) exempt private				indation status was t n 507(b)(1)(A), chec	
		1 4947(a)(1) nonexempt charitab		e private foundation		-		
		ket value of all assets at end From Part II, col. (c),	I — -	✓ Cash ☐ Accru	al		ition is in a 60-month n 507(b)(1)(B), chec	
		►\$ 2,875,150	Other (specify)  (Part I, column (d) must	be on cash basis.)				
_				T			T	I
Pa	rt I	Analysis of Revenue and of amounts in columns (b), (c), and equal the amounts in column (a) (so	(d) may not necessarily	(a) Revenue and expenses per books	(b)	Net investment income	(c) Adjusted net income	(d) Disbursements for charitable purposes (cash basis only)
	1	Contributions, gifts, grants, etc. schedule)	., received (attach	27,883,645				
	2	Check ► ☐ if the foundation is Sch. B	not required to attach					
	3	Interest on savings and tempor	ary cash investments					
	4	Dividends and interest from sec	urities					
Reversie	5a	Gross rents						
	b	Net rental income or (loss)						
	6a	Net gain or (loss) from sale of a	issets not on line 10					
	b	Gross sales price for all assets of	on line 6a					
	7	Capital gain net income (from P	art IV, line 2)			0		
	8	Net short-term capital gain .					0	
	9	Income modifications						
	10a	Gross sales less returns and allo Less: Cost of goods sold	owances					
	b c	Gross profit or (loss) (attach so	hedule)					
	11	Other income (attach schedule)	•					
	12			27,883,645	:	0	0	
	13	Compensation of officers, direct	ors, trustees, etc.	0		0	0	(
	14	Other employee salaries and wa	ages	41,949	1	0	0	41,949
Š	15	Pension plans, employee benefi	ts					
nse	16a	Legal fees (attach schedule) .		11,502		0	0	11,50
<del>2</del>	ь	Accounting fees (attach schedul	e)	8,935		0	0	8,93
ii o	c	Other professional fees (attach	schedule)					
Operating and Administrative Expenses	17	Interest						
st ra	18	Taxes (attach schedule) (see in	structions)					
ੂ	19	Depreciation (attach schedule)	and depletion	640,650		0	0	
9	20	Occupancy		12,273		0	0	12,27
م ت	21	Travel, conferences, and meeting	-	17,151		0	0	17,15
E	22	Printing and publications						
5	23	Other expenses (attach schedul		27,213,264		0	0	27,213,264
er al	24	Total operating and administ	-	37.045.734		•	_	27 205 07
<u>ā</u>	25	Add lines 13 through 23 Contributions, gifts, grants paid		27,945,724	<u> </u>	0	0	27,305,074 30,503
_				30,301				30,30.
	26	Total expenses and disburse 25	ments. Add lines 24 and	27,976,225		0	0	27,335,57
	27	Subtract line 26 from line 12:						
	a	Excess of revenue over expedisbursements	nses and	-92,580				
	ь	Net investment income (if ne	gative, enter -0-)	,		0		
	c	Adjusted net income (if nega	tive, enter -0-)				0	

Page 2

Form 990-PF (2019)

29 Z

2

3

4

5

30

Part III

Total net assets or fund balances (see instructions) .

of-year figure reported on prior year's return)

Other increases not included in line 2 (itemize)

Enter amount from Part I, line 27a

Add lines 1, 2, and 3 . . . . . .

Decreases not included in line 2 (itemize) ▶

Total liabilities and net assets/fund balances (see instructions) .

Total net assets or fund balances at beginning of year-Part II, column (a), line 29 (must agree with end-

Total net assets or fund balances at end of year (line 4 minus line 5)—Part II, column (b), line 29

**Analysis of Changes in Net Assets or Fund Balances** 

	-	<u> </u>	1	· I	, , , , , , , , , , , , , , , , , , ,	•
	2	Savings and temporary cash investments				
	3	Accounts receivable ►				
		Less: allowance for doubtful accounts ▶		2,324	19,373	19,373
	4	Pledges receivable ▶				
		Less: allowance for doubtful accounts ▶		1		
	5	Grants receivable				
	6	Receivables due from officers, directors, trustees, and other				
		disqualified persons (attach schedule) (see instructions)				
	7	Other notes and loans receivable (attach schedule)				
		Less: allowance for doubtful accounts ▶		İ		
S	8	Inventories for sale or use			645,564	645,564
Assets	9	Prepaid expenses and deferred charges		111,658	145,724	145,724
As	10a	Investments—U.S. and state government obligations (attach schedule)				
	b	Investments—corporate stock (attach schedule)				
	С	Investments—corporate bonds (attach schedule)				
	11	Investments—land, buildings, and equipment: basis ▶				
		Less: accumulated depreciation (attach schedule) ▶		İ		
	12	Investments—mortgage loans				
	13	Investments—other (attach schedule)				
	14	Land, buildings, and equipment: basis ►				
		Less: accumulated depreciation (attach schedule) ▶ 1,511,817	1,	499,687	1,101,967	1,101,967
	15	Other assets (describe )	<b>9</b> 2)	87,341	73,635 🕰	73,635
	16	Total assets (to be completed by all filers—see the				
		instructions. Also, see page 1, item I)	2,	063,170	2,875,150	2,875,150
	17	Accounts payable and accrued expenses		6,653	13,314	
	18	Grants payable				
es	19	Deferred revenue				
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons				
jab	21	Mortgages and other notes payable (attach schedule)				
_	22	Other liabilities (describe )	<b>%</b> J	93,454	991,353	
	23	Total liabilities(add lines 17 through 22)		100,107	1,004,667	
Fund Balances		Foundations that follow FASB ASC 958, check here ▶ □ and complete lines 24, 25, 29 and 30.				
ala	24	Net assets without donor restrictions				
В В	25	Net assets with donor restrictions				
or Fund		Foundations that do not follow FASB ASC 958, check here  and complete lines 26 through 30.				
Ş	26	Capital stock, trust principal, or current funds		0	0	
Assets	27	Paid-in or capital surplus, or land, bldg., and equipment fund		0	0	
Š	28	Retained earnings, accumulated income, endowment, or other funds	1	963.063	1.870.483	

1,963,063

2,063,170

1,870,483

2,875,150

1

2

3

4

5

6

1,963,063

1,870,483

Form **990-PF** (2019)

-92,580

0 1,870,483

• /	be the kind(s) of property sold (e.g., arehouse; or common stock, 200 shs	· ·	(b) How acquired P—Purchase D—Donation	(c) Date acquired (mo., day, yr.)	<b>(d)</b> Date sold (mo., day, yr
	(f)		(g)	(1	1)
(e) Gross sales price	Depreciation allowed		other basis	Gain o	r (loss)
	(or allowable)	plus exp	pense of sale	(e) plus (f)	) minus (g)
a					
b					
<u>c</u>					
d					
<u>e</u>					
Complete only for asse	ts showing gain in column (h) and ow	ned by the foundation			I)
(i)	(j) Adjusted basis	Evene	<b>(k)</b> s of col. (i)	col. (k), but not	n) gain minus less than -0-) <b>o</b> i
F.M.V. as of 12/31/6	9 as of 12/31/69		ol. (j), if any		om col.(h))
a			(3))	`	
b					
d					
e					
		If gain, also enter in	Part I, line 7		
2 Capital gain net incom	e or (net capital loss)	If (loss), enter -0- in	Part I, line 7		
		1222(5)	,	2	
•	gain or (loss) as defined in sections	. , , ,	•		
in Part I, line 8	art I, line 8, column (c) (see instructi	, , ,	U-	3	
mr are 1, mre e			)		
Part V Qualification	Under Section 4940(e) for Re	duced Tax on Ne	t Investment In	come	
(For optional use by domestic	private foundations subject to the sec	ction 4940(a) tax on n	et investment incom	ne.)	
		,		,	
If section 4940(d)(2) applies,	leave this part blank.			_	_
	he section 4942 tax on the distributa	• •	· ·	?	es 🗹 No
· · · · · · · · · · · · · · · · · · ·	not qualify under section 4940(e). Do				
	mount in each column for each year;	see instructions befor	e making any entrie		
(a) Base period years Calendar	(b)	(c)		<b>(d)</b> Distribution rati	0
year (or tax year beginning in)	Adjusted qualifying distributions	Net value of noncharita		(col. (b) divided by co	
2018	24,397,564		501,276		48.670920
2017	5,876,249		216,182		27.181953
2016	5,814,483		217,684		26.710659
2015	4,188,380		198,122		21.140408
2014	3,203,885		528,902	Τ	6.057616
2 Total of line 1, column	` '		<u>2</u>		129.761556
	io for the 5-year base period—divide indation has been in existence if less		3.0, or by the <b>3</b>		25.952311
	oncharitable-use assets for 2019 fron		4		702,123
<b>5</b> Multiply line 4 by line 3			5		18,221,714
6 Enter 1% of net investn	nent income (1% of Part I, line 27b)		6		0
<b>7</b> Add lines 5 and 6 .			7		18,221,714
8 Enter qualifying distribu	tions from Part XII, line 4 ,		8		27,335,575
	reater than line 7, check the box in Pa			ıg a 1% tax rate. Se	e the Part VI

Form	990-PF (201	9)									P	age <b>6</b>
Par	t VII-B	Statements Regard	ling	<b>Activities for Which</b>	Form 4720 May Be	Required (	ontinue	ed)				
5a	During the y	year did the foundation p	oay o	r incur any amount to:							Yes	No
	<b>(1)</b> Carry o	n propaganda, or otherw	ise a	ttempt to influence legisla	ition (section 4945(e))?		Yes	~	Nο			
	(2) Influence	ce the outcome of any sp	ecific	c public election (see secti	on 4955); or to carry	_						
	•			egistration drive?		• • [	Yes	<b>✓</b>	No			
		-		ravel, study, or other simil			Yes	<b>✓</b>	No			
		-		her than a charitable, etc.	· -							
				ctions		[	✓ Yes		No			
	• •			eligious, charitable, scient		_	_	_				
			•	rention of cruelty to childre		L	Yes	✓	No			
D				any of the transactions fai			bea in			Eh		N.
	_			ent notice regarding disast				٠		5b		No
c	_	, <del>-</del>		regarding disaster assista does the foundation claim				Ш				
·		•		esponsibility for the grant?	·	Г	<u> </u>					
		·		y Regulations section 53.4		· · ·	✓ Yes	Ш	No			
6a		•		ive any funds, directly or	—	ms on						
Va						. г	_					
b	•			premiums, directly or indi		efit contract?	_ Yes	✓	No	6b		No
		ib, file Form 8870.	pu,	premianis, an early or mar	receiff on a personal ber	iene contrace.		•		"		
7a		•	s the	foundation a party to a pr	rohibited tax shelter tran	saction? [	٦					
	-	= -		proceeds or have any net i		L		<b>✓</b>	No	7b		
8	-			1960 tax on payment(s) of								
		•		ar?				<b>✓</b>	No			
				ers, Directors, Trust		L				vees		
Par		nd Contractors		c.5, 2deto.5, 1det	ooo, i oumaanom ma	nagere, mg	,			,,		
1	List all offic	cers, directors, truste	es, fo	oundation managers and	d their compensation.	See instructi	ons					
		<b>,</b>		(b) Title, and average	(c) Compensation (If			to	(0)	) Exper	200	ount
	<b>(a)</b> Nam	ne and address		hours per week	not paid, enter	employee ben				ther a		
CHRIS	TOPHER HARM	ION	DIRE	devoted to position CTOR/SECRETARY & TREAS	- <b>0-)</b>	deferred co	npensa	LION	1			
		ITER FRWY STE 800	5.00	CTOTY SECRETARY & TREAS				,	1			U
	G, TX 75039											
	RYN ANN HALBI		DIRE 5.00	CTOR/PRESIDENT	0			(				0
	' JOHN CARPEN G, TX 75039	ITER FRWY STE 800	3.00									
	AEL HALBERT		DIRE	CTOR	0							
		ITER FRWY STE 800	5.00		Ĭ			`	1			Ŭ
	G, TX 75039		<u> </u>									
	Compensat	ion of five highest-pa	id en	nployees (other than th	ose included on line 1				ne, e	nter "	NONE.	·"
(a) [	Name and ad	dress of each employee	naid	(b) Title, and average		(d) Contri employe			(e)	Expens	se acco	unt
(-)		e than \$50,000	P	hours per week devoted to position	(c) Compensation	plans and	deferre			ther all		
				'		comper	sation					
	ANIEL SEGA			COUNTRY DIR./CHIEF O	325,00	0		0				0
	V JOHN CARF IG, TX 7503:	PENTER FRWY STE 800		140.00								
	STOPHER HA			coo	161,00			0				0
		PENTER FRWY STE 800		20.00	161,00	ď		٥				U
	IG, TX 7503											
	A LEWIS	-		DEPUTY COUNTRY DIR.	135,00	0		0				0
		PENTER FRWY STE 800		40.00								_
	IG, TX 7503											
SYLV	IE BOISSON			CHIEF OF PARTY IMPAC	116,40	0		0				0
750 V	V JOHN CARE	PENTER FRWY STE 800		40.00								
IRVI	IG, TX 7503	9										
JAME	S REPPART			KENYA COUNTRY	99,00	이		0				0
		PENTER FRWY STE 800		DIRECT 40.00								
	IG, TX 7503		,									
ıota	number of o	other employees paid ov	er \$5	0,000						000	2 55	0

Form 990-PF (2019)	Page <b>7</b>
Part VIII  Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid E and Contractors (continued)	Employees,
3 Five highest-paid independent contractors for professional services (see instructions). If none, enter "NO	NE".
(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation
NONE	
Total number of others receiving over \$50,000 for professional services	0
Part IX-A Summary of Direct Charitable Activities	
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc.	Expenses
1 EARLY - INFANT HIV DIAGNOSIS PROGRAM IN HAITI	450,117
2 SUPPORT INTEGRATED HEALTH SERVICE DELIVERY IN HAITI	22,206,721
3 SINGLE MOTHER AND CHILD PROGRAM IN KENYA, AFRICA	668,152
4 ORPHANS AND VULNERABLE CHILDREN II (IMPACT YOUTH)	3,863,497
Part IX-B Summary of Program-Related Investments (see instructions)	_
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2.	Amount
1	
2	
All other program-related investments. See instructions.  3	_
Total Add lines 1 through 2	
Total. Add lines 1 through 3	Form <b>990-PF</b> (2019)

Page 8

27,335,575

27,335,575

27.335.575

Form 990-PF (2019)

Form 990-PF (2019)

1 2a

3

4 5

6

1

2

3

4

5

6

b

Part XII

	'		
3	Subtract line 2 from line 1d	3	712,815
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see		
	instructions)	4	10,692
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	702,123
6	Minimum investment return. Enter 5% of line 5	6	35,106
	<b>Distributable Amount</b> (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations at <b>XI</b>	nd cer	tain foreign
Pal	organizations check here   and do not complete this part.)		

2a |

2b

2c

3

4

5

6

7

1a

1b

2

За

3h

4

5

Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:

Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,

Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment

Distributable amount before adjustments. Subtract line 2c from line 1. . . . . . . . . . . . . . . .

Expenses, contributions, gifts, etc.—total from Part I, column (d), line 26. . . . . . . . . . . .

Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4

Note: The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for

Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1. . .

Tax on investment income for 2019 from Part VI, line 5. . . . . .

Income tax for 2019. (This does not include the tax from Part VI.). . .

Qualifying Distributions (see instructions)

Amounts set aside for specific charitable projects that satisfy the:

the section 4940(e) reduction of tax in those years.

a Excess from 2015. b Excess from 2016. c Excess from 2017. d Excess from 2018. e Excess from 2019.

m 990-PF (2019)				Page <b>9</b>
Part XIII Undistributed Income (see instruction				
			(c) 2018	<b>(d)</b> 2019
Distributable amount for 2019 from Part XI, line 7		T T T T T T T T T T T T T T T T T T T		0
Undistributed income, if any, as of the end of 2019:				
Enter amount for 2018 only	J	1	0	
Total for prior years: 20		0		
Excess distributions carryover, if any, to 2019:		1		
From 2014	J	1		
From 2015	J	1		
From 2016	J	1		
	J	1		
	2 169 419	1		
	3,100,410	<del></del>	<del>+</del>	
	J	1		
Applied to 2018, but not more than line 2a			0	
Applied to undistributed income of prior years (Election required—see instructions)		0		
Treated as distributions out of corpus (Election required—see instructions).	0			
Applied to 2019 distributable amount.				0
Remaining amount distributed out of corpus	0	ſ		
Excess distributions carryover applied to 2019.	0	1		0
(If an amount appears in column (d), the same amount must be shown in column (a).)				
Enter the net total of each column as indicated below:				
Corpus. Add lines 3f, 4c, and 4e. Subtract line 5	3,168,418	<u></u>		
Prior years' undistributed income. Subtract line 4b from line 2b		0		
Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0		
Subtract line 6c from line 6b. Taxable amount —see instructions		0		
Undistributed income for 2018. Subtract line 4a from line 2a. Taxable amount—see instructions			0	
Undistributed income for 2019. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2020				0
Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)	0			
Excess distributions carryover from 2014 not applied on line 5 or line 7 (see instructions)	3,168,418			
Excess distributions carryover to 2020. Subtract lines 7 and 8 from line 6a	0			
	Distributable amount for 2019 from Part XI, line 7 Undistributed income, if any, as of the end of 2019: Enter amount for 2018 only. Total for prior years: 20, 20, 20 Excess distributions carryover, if any, to 2019: From 2014 3,168,418 From 2015 From 2016 From 2017 From 2018  Qualifying distributions for 2019 from Part XII, line 4: ▶ \$ Applied to 2018, but not more than line 2a Applied to undistributed income of prior years (Election required—see instructions). Treated as distributions out of corpus (Election required—see instructions). Applied to 2019 distributable amount. Remaining amount distributed out of corpus Excess distributions carryover applied to 2019. (If an amount appears in column (d), the same amount must be shown in column (a).) Enter the net total of each column as indicated below: Corpus. Add lines 3f, 4c, and 4e. Subtract line 5 Prior years' undistributed income. Subtract line 4b from line 2b. Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed. Subtract line 6c from line 6b. Taxable amount—see instructions. Undistributed income for 2018. Subtract line 4a from line 2a. Taxable amount—see instructions. Undistributed income for 2019. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2020. Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions). Excess distributions carryover from 2014 not applied on line 5 or line 7 (see instructions). Excess distributions carryover from 2020.	Distributable amount for 2019 from Part XI, line 7 Undistributed income, if any, as of the end of 2019: Enter amount for 2018 only. Total for prior years: 20, 20 Excess distributions carryover, if any, to 2019: From 2014. From 2015. From 2016. From 2017. From 2018.  Qualifying distributions for 2019 from Part XII, line 4:  \$ \$ Applied to 2018, but not more than line 2a Applied to undistributed income of prior years (Election required—see instructions). Applied to 2019 distributions out of corpus (Election required—see instructions). Applied to 2019 distributable amount. Remaining amount distributed out of corpus Excess distributions carryover applied to 2019. (If an amount appears in column (d), the same amount must be shown in column (a).) Enter the net total of each column as indicated below: Corpus. Add lines 3f, 4c, and 4e. Subtract line 5 Prior years' undistributed income. Subtract line 6c from line 2b. Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed. Subtract line 6c from line 6b. Taxable amount—see instructions. Undistributed income for 2018. Subtract line 4a from line 2a. Taxable amount—see instructions. Undistributed income for 2018. Subtract line 4a from line 2a. Taxable amount—see instructions. Undistributed income for 2018. Subtract line 4a from line 2b. Carbon	Distributable amount for 2019 from Part XI, line 7 Undistributed income, if any, as of the end of 2019: Enter amount for 2018 only.  Total for prior years: 20, 20, 20 Excess distributions carryover, if any, to 2019: From 2014.  Total of lines 3a through e.  Qualifying distributions for 2019 from Part XII, line 4 ** S  Applied to 2018, but not more than line 2a  Applied to 2018, but not more than line 2a  Applied to 2019 distributions out of corpus (Election required—see instructions).  Treated as distributions out of corpus (Election required see instructions).  Applied to 2019 distributable amount.  Remaining amount distributed out of corpus  Excess distributions carryover applied to 2019.  Corpus Add lines 3f, 4c, and 4e. Subtract line 5  Prior years' undistributed income subtract line 4b from line 2b.  Subtract line 6c from line 6b. Taxable amount —see instructions.  Undistributed income for 2019. Subtract line 4a from line 2a. Taxable amount must be distributed income for 2019. Subtract line 4a from line 2b. Taxable amount must be distributed income for 2019. Subtract line 4a from line 2b. Taxable amount must be distributed income for 2019. Subtract line 4a from line 2b. Taxable amount must be distributed income for 2019. Subtract line 4a from line 2b. Taxable amount must be distributed income for 2019. Subtract line 4a from line 2b. This amount must be distributed income for 2019. Subtract line 4a from line 2b. This amount must be distributed income for 2019. Subtract line 4a from line 2b. This amount must be distributed income for 2019. Subtract line 4a from line 5 from line 1. This amount must be distributed income for 2019. Subtract line 4a from line 5 from line 7 (see instructions).  Cxcess distributions carryover from 2014 not applied on line 5 or line 7 (see instructions).  Excess distributions carryover from 2014 not applied on line 5 or line 7 (see instructions).  Excess distributions carryover to 2020.  Excess distributions carryover to 2020.	Undistributed Income (see instructions)  (a) (a) (c) (c) (c) (c) (c) (c) (c) (c) (c) (c

(4) Gr	oss investment income					
Part XV	<b>Supplementary Information</b>	(Complete this	part only if the f	oundation had s	5,000 or more	in
Parl AV	assets at any time during th	e vear—see insti	ructions \			

### 1 Information Regarding Foundation Managers:

c Any submission deadlines:

- a List any managers of the foundation who have contributed more than 2% of the total contributions received by the foundation
- before the close of any tax year (but only if they have contributed more than \$5,000). (See section 507(d)(2).)
- **b** List any managers of the foundation who own 10% or more of the stock of a corporation (or an equally large portion of the ownership of a partnership or other entity) of which the foundation has a 10% or greater interest.
- 2 Information Regarding Contribution, Grant, Gift, Loan, Scholarship, etc., Programs:

2 Information Regarding Contribution, Grant, Gift, Loan, Scholarship, etc., Programs:

Check here  $\blacktriangleright \checkmark$  if the foundation only makes contributions to preselected charitable organizations and does not accept unsolicited requests for funds. If the foundation makes gifts, grants, etc. to individuals or organizations under other conditions, complete items 2a, b, c, and d. See instructions

- a The name, address, and telephone number or email address of the person to whom applications should be addressed:
- The name, address, and telephone number or email address of the person to whom applications should be addressed:
- **b** The form in which applications should be submitted and information and materials they should include:
- **d** Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors:

За

Form **990-PF** (2019)

3b

**b** Approved for future payment

Total . .

					(0)
Enter gross amounts unless otherwise indicated.		usiness income	Excluded by section		(e) Related or exempt function income
1 Program service revenue:	(a) Business code	<b>(b)</b> Amount	(c) Exclusion code	(d) Amount	(See instructions.)
a b					
c					
d e					
f					
${f g}$ Fees and contracts from government agencies					
<ul> <li>Membership dues and assessments.</li> <li>Interest on savings and temporary cash investments</li> </ul>					
4 Dividends and interest from securities					
a Debt-financed property					
<b>b</b> Not debt-financed property					
<b>6</b> Net rental income or (loss) from personal property <b>7</b> Other investment income.					
8 Gain or (loss) from sales of assets other than					
inventory					
Net income or (loss) from special events:     Gross profit or (loss) from sales of inventory					
11 Other revenue: a					
b					
d					
e					
12 Subtotal. Add columns (b), (d), and (e).  13 Total. Add line 12, columns (b), (d), and (e).		0		0	0
(See worksheet in line 13 instructions to verify calcu	ılations.)		13	3	
Part XVI-B Relationship of Activities to the					
<b>Line No.</b> Explain below how each activity for which the accomplishment of the foundation's e instructions.)					•
L NONE					

For	rm 990-Pf	(2019)				Pa	ge <b>13</b>
	Part XVI	Information Re Exempt Organi		ions and Relationships With Nonchari	table		
1			directly engage in any of the following with a organizations) or in section 527, relating to	any other organization described in section 501 political organizations?		Yes	No
а	Transfer	s from the reporting foun	dation to a noncharitable exempt organization	on of:			
	<b>(1)</b> Cas	sh			1a(1)		No
	(2) Oth	ner assets			1a(2)		No
b	Other tr	ansactions:					
	<b>(1)</b> Sal	es of assets to a nonchar	itable exempt organization		1b(1)		No
	<b>(2)</b> Pur	chases of assets from a r	noncharitable exempt organization		1b(2)		No
	<b>(3)</b> Rer	ntal of facilities, equipmer	nt, or other assets		1b(3)		No
	<b>(4)</b> Rei	mbursement arrangemen	ts		1b(4)		No
		<u>-</u>			1b(5)		No
	<b>(6)</b> Perf	ormance of services or m	embership or fundraising solicitations		1b(6)		No
С	Sharing	of facilities, equipment, n	nailing lists, other assets, or paid employees		1c		No
u	of the go	oods, other assets, or ser		olumn (b) should always show the fair market of the foundation received less than fair market values goods, other assets, or services received.			
(a	) Line No.	(b) Amount involved	(c) Name of noncharitable exempt organization	(d) Description of transfers, transactions, and sha	ıring arra	ngemen	ts
_							
_							
_							
_							
_				-			

					her assets, or services received.
(a) Line No.	(b) Amount involved	(c) Name of noncha	aritable exempt organization	(d) Desc	cription of transfers, transactions, and sharing arrangements
	·	•	, or related to, one or mor		·
describe	d in section 501(c) (othe	r than section 501(	c)(3)) or in section 527? $.$		□ Yes ☑ No
<b>b</b> If "Yes,"	complete the following s				
	(a) Name of organization	on	<b>(b)</b> Type of organiza	tion	(c) Description of relationship

Under penalties of perjury, I declare that I have examined this return, including accompanying schedules and statements, and to the best

which preparer has any knowledge. Sign 2020-11-14 Here Signature of officer or trustee Title Date

Paid **Preparer** 

of my knowledge and belief, it is true, correct, and complete. Declaration of preparer (other than taxpayer) is based on all information of May the IRS discuss this return with the preparer shown (see instr.) 🗹 Yes 🗆 No Print/Type preparer's name Preparer's Signature Date PTIN Check if self-P00445178 employed ▶ 🔲 **CURTIS MAXFIELD** Firm's name ▶ WHITLEY PENN LLP Firm's EIN ▶75-2393478 **Use Only** Firm's address ▶ 8343 DOUGLAS AVENUE STE 400 Phone no. (214) 393-9300 DALLAS, TX 75225

efile GRAPHIC print - DO NOT PROCESS   As Filed Data - DLN: 93491321036800								
TY 2019 Accounting Fe	ees Sche	edule						
Name: CARIS FOUNDATION INTERNATIONAL  EIN: 26-1488005								
l	ETIA.	<del></del>			+			
Category	Amo	ount No	let Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes			

ACCOUNTING FEES

DLN: 93491321036800

Note: To capture the full content of this document, please select landscape mode (11" x 8.5") when printing.

# **TY 2019 Depreciation Schedule**

Name: CARIS FOUNDATION INTERNATIONAL

**EIN:** 26-1488005

Description of Property	Date	Cost or Other	- · · · ·						
	Acquired	Basis	Prior Years' Depreciation	Computation Method	Rate / Life (# of years)	Current Year's Depreciation Expense	Net Investment Income	Adjusted Net Income	Cost of Goods Sold Not Included
LAND CRUISER 2 2008	2008-01-01	33,597	33,597	200DB	5.000000000000	0	0	0	
CFI - COMPUTER & EQUIPMENT 2008	2008-10-03	3,173	3,173	200DB	5.000000000000	0	0	0	
CFI - LAPTOP 2009	2009-10-06	1,430	1,430	200DB	5.000000000000	0	0	0	
CFI - COMPUTER 2009	2009-11-03	2,905	2,904	200DB	5.000000000000	0	0	0	
CFI - COMPUTER 2010	2010-06-01	936	936	SL	5.000000000000	0	0	0	
CFI - COMPUTER & EQUIPMENT 2011	2011-03-15	799	799	200DB	5.000000000000	0	0	0	
CFI - COMPUTER & EQUIPMENT 2011	2011-03-15	699	699	200DB	5.000000000000	0	0	0	
CFI - COMPUTER & EQUIPMENT 2012	2012-02-06	919	919	200DB	5.000000000000	0	0	0	
CFI - COMPUTER & EQUIPMENT 2012	2012-02-06	897	897	200DB	5.000000000000	0	0	0	
CFI - COMPUTER & EQUIPMENT 2012	2012-02-06	800	800	200DB	5.000000000000	0	0	0	
CFI - ACER COMPUTER 2013	2013-03-13	1,987	1,987	200DB	5.000000000000	0	0	0	
CFI - MACBOOK 2013	2013-03-13	2,664	2,664	200DB	5.000000000000	0	0	0	
HAITI - COMPUTER 2014	2014-01-20	2,034	1,917	200DB	5.000000000000	117	0	0	
H - NISSAN 2012	2014-03-12	36,000	33,636	200DB	5.000000000000	2,364	0	0	
H - SUZUKI 2014	2014-04-04	22,000	20,644	200DB	5.000000000000	1,356	0	0	
HAITI - FURNITURE 2014	2014-04-17	6,183	4,804	200DB	7.000000000000	552	0	0	
KENYA-FURNITURE 2008	2008-06-30	1,611	1,611	200DB	7.000000000000	0	0	0	
KENYA-SEWING MACHINE 2010	2010-06-30	2,852	2,852	200DB	5.000000000000	0	0	0	
KENYA- COMPUTERS AND EQUIPMENT 2012	2012-04-23	1,358	1,358	SL	5.000000000000	0	0	0	
KENYA-COMPUTER 2014	2014-06-09	5,144	4,848	200DB	5.000000000000	296	0	0	

Description of	Date	Cost or Other	Prior Years'	Computation Method	Rate /	Current Year's	Net Investment	Adjusted Net	Cost of Goods
Property	Acquired	Basis	Depreciation		Life (# of years)	Depreciation Expense	Income	Income	Sold Not Included
KENYA-COPIER 2014	2014-06-30	2,255	2,125	200DB	5.000000000000	130	0	0	
KENYA-SEWING MACHINE 2011	2011-05-12	1,027	1,027	200DB	5.00000000000	0	0	0	
KENYA- PROPERTY AND EQUIPMENT 2016	2016-09-21	2,187	1,191	200DB	7.000000000000	285	0	0	
KENYA- PROPERTY AND EQUIPMENT 2016	2016-10-14	583	297	200DB	7.00000000000	82	0	0	
KENYA- PROPERTY AND EQUIPMENT 2016	2016-10-21	4,074	2,681	200DB	5.00000000000	557	0	0	
KENYA- PROPERTY AND EQUIPMENT 2016	2016-10-28	281	185	200DB	5.00000000000	38	0	0	
TOYOTA LAND CRUISER PRADO TXL M/T 2014 #1	2014-12-03	38,500	35,820	200DB	5.000000000000	2,680	0	0	
TOYOTA LAND CRUISER PRADO TXL M/T 2014 #2	2014-12-03	38,500	35,820	200DB	5.000000000000	2,680	0	0	
TOYOTA LAND CRUISER PRADO TXL M/T 2014 #3	2014-12-03	38,500	35,820	200DB	5.00000000000	2,680	0	0	
TOYOTA LAND CRUISER PRADO TXL M/T 2014 #4	2014-12-03	38,500	35,820	200DB	5.000000000000	2,680	0	0	
TOYOTA LAND CRUISER PRADO TXL M/T 2014 #5	2014-12-03	38,500	35,820	200DB	5.000000000000	2,680	0	0	
NISSAN PATROL GL 2014 #1	2014-08-19	40,136	37,631	200DB	5.000000000000	2,505	0	0	
NISSAN PATROL GL 2014 #2	2014-08-19	40,136	37,631	200DB	5.00000000000	2,505	0	0	
NISSAN PATROL GL 2014 #3	2014-08-19	40,136	37,631	200DB	5.00000000000	2,505	0	0	
NISSAN PATROL GL 2014 #4	2014-08-19	40,136	37,631	200DB	5.00000000000	2,505	0	0	
HYUNDAI TUCSON 2014	2016-09-29	19,000	12,844	200DB	5.000000000000	2,462	0	0	
KENYA- PROPERTY AND EQUIPMENT 2017	2017-07-04	1,060	551	200DB	5.00000000000	204	0	0	
KENYA- PROPERTY AND EQUIPMENT 2017	2017-07-04	1,060	551	200DB	5.000000000000	204	0	0	
H - HYUNDAI TUCSON 2017	2017-05-30	29,300	15,236	200DB	5.00000000000	5,626	0	0	
H - HYUNDAI TUCSON 2017	2017-05-30	29,300	15,236	200DB	5.000000000000	5,626	0	0	

## **Depreciation Schedule** Cost or Other

4,779

4,779

956

200DB

956 200DB

2018-05-29

2018-05-29

HONDA XR190L RED

HONDA XR190L RED

Description of Property	Date Acquired	Cost or Other Basis	Prior Years' Depreciation	Computation Method	Rate / Life (# of years)	Current Year's Depreciation Expense	Net Investment Income	Adjusted Net Income	Cost of Goods Sold Not Included
HYUNDAI CRETA 2017	2017-06-21	22,500	11,700	200DB	5.000000000000	4,320	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0	

5.000000000000

5.000000000000

1,529

1,529

0

0

0

	Depreciation Schedule												
Description of Property	Date Acquired	Cost or Other Basis	Prior Years' Depreciation	Computation Method	Rate / Life (# of years)	Current Year's Depreciation Expense	Net Investment Income	Adjusted Net Income	Cost of Goods Sold Not Included				
HONDA XR190L RED	2018-05-29	4,779	956	200DB	5.000000000000	1,529	0	0					
2017 TOYOTA LANDCRUISER VIN #285128	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2017 TOYOTA LANDCRUISER VIN #285129	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2017 TOYOTA LANDCRUISER VIN #285130	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #286668	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #286669	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287416	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287417	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287418	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287419	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287420	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287421	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287422	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287423	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287424	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287425	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287426	2018-07-13	51,881	10,376	200DB	5.000000000000	16,602	0	0					
2018 TOYOTA LANDCRUISER VIN #287427	2018-07-13	32,611	6,522	200DB	5.000000000000	10,436	0	0					
2018 TOYOTA LANDCRUISER VIN #287428	2018-07-13	32,611	6,522	200DB	5.000000000000	10,436	0	0					
2018 TOYOTA LANDCRUISER VIN #287429	2018-07-13	32,611	6,522	200DB	5.000000000000	10,436	0	0					

	Deprecia	ation Schedule							
Description of Property	Date Acquired	Cost or Other Basis	Prior Years' Depreciation	Computation Method	Rate / Life (# of years)	Current Year's Depreciation Expense	Net Investment Income	Adjusted Net Income	Cost of Goods Sold Not Included
2018 TOYOTA LANDCRUISER VIN #287430	2018-07-13	33,404	6,681	200DB	5.000000000000	10,689	0	0	
2018 TOYOTA LANDCRUISER VIN #287431	2018-07-13	33,404	6,681	200DB	5.000000000000	10,689	0	0	
2018 TOYOTA LANDCRUISER VIN #287432	2018-07-13	33,404	6,681	200DB	5.000000000000	10,689	0	0	
2018 TOYOTA LANDCRUISER VIN #286248	2018-07-13	33,404	6,681	200DB	5.000000000000	10,689	0	0	
2018 TOYOTA LANDCRUISER VIN #286249	2018-07-13	33,404	6,681	200DB	5.000000000000	10,689	0	0	
2018 TOYOTA LANDCRUISER VIN #286250	2018-07-13	33,404	6,681	200DB	5.000000000000	10,689	0	0	
2018 TOYOTA LANDCRUISER VIN #286251	2018-07-13	33,404	6,681	200DB	5.000000000000	10,689	0	0	
2018 TOYOTA LANDCRUISER VIN #286254	2018-07-13	33,404	6,681	200DB	5.000000000000	10,689	0	0	
2018 TOYOTA LANDCRUISER VIN #287019	2018-07-13	33,404	6,681	200DB	5.000000000000	10,689	0	0	
2018 TOYOTA LANDCRUISER VIN #287021	2018-07-13	33,404	6,681	200DB	5.000000000000	10,689	0	0	
2018 TOYOTA LANDCRUISER VIN #287022	2018-07-13	33,405	6,681	200DB	5.000000000000	10,690	0	0	
2018 TOYOTA LANDCRUISER VIN #287023	2018-07-13	33,405	6,681	200DB	5.000000000000	10,690	0	0	
2018 TOYOTA LANDCRUISER VIN #287024	2018-07-13	33,405	6,681	200DB	5.000000000000	10,690	0	0	
2018 TOYOTA LANDCRUISER VIN #287026	2018-07-13	33,405	6,681	200DB	5.000000000000	10,690	0	0	
2018 TOYOTA LANDCRUISER VIN #287027	2018-07-13	33,405	6,681	200DB	5.000000000000	10,690	0	0	
2018 TOYOTA LANDCRUISER VIN #287688	2018-07-13	33,405	6,681	200DB	5.000000000000	10,690	0	0	
2018 TOYOTA LANDCRUISER VIN #287689	2018-07-13	33,405	6,681	200DB	5.000000000000	10,690	0	0	
2018 TOYOTA LANDCRUISER VIN #287690	2018-07-13	33,405	6,681	200DB	5.000000000000	10,690	0	0	
2018 TOYOTA LANDCRUISER VIN #287696	2018-07-13	33,405	6,681	200DB	5.000000000000	10,690	0	0	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0	

Depreciation Schedule												
Description of Property	Date Acquired	Cost or Other Basis	Prior Years' Depreciation	Computation Method	Rate / Life (# of years)	Current Year's Depreciation Expense	Net Investment Income	Adjusted Net Income	Cost of Goods Sold Not Included			
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEMMINDRAY DP- PORTABLE ULTRASOUND SY	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEMMINDRAY DP- PORTABLE ULTRASOUND SY	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	2018-09-26	3,960	792	200DB	5.000000000000	1,267	0	0				
KENYA- PROPERTY AND EQUIPMENT VEHICLE 2018	2018-06-21	19,771	3,954	200DB	5.000000000000	6,327	0	0				

	Depreciation Schedule												
Description of Property	Date Acquired	Cost or Other Basis	Prior Years' Depreciation	Computation Method	Rate / Life (# of years)	Current Year's Depreciation Expense	Net Investment Income	Adjusted Net Income	Cost of Goods Sold Not Included				
KENYA- PROPERTY AND EQUIPMENT VEHICLE 2018	2018-06-21	18,935	3,787	200DB	5.000000000000	6,059	0	0					
KENYA- PROPERTY AND EQUIPMENT COMPUTER 2018	2018-05-18	1,095	219	200DB	5.000000000000	350	0	0					
HONDA XR1090L	2019-04-09	4,717		ADS	5.00000000000	472	0	0					
HONDA XR1090L	2019-04-09	4,717		ADS	5.00000000000	472	0	0					
HONDA XR1090L	2019-04-09	4,717		ADS	5.00000000000	472	0	0					
HONDA XR1090L	2019-04-09	4,717		ADS	5.000000000000	472	0	0					
HONDA XR1090L	2019-04-09	4,717		ADS	5.000000000000	472	0	0					
HONDA XR1090L	2019-04-09	4,717		ADS	5.000000000000	472	0	0					
HONDA XR1090L	2019-04-09	4,717		ADS	5.000000000000	472	0	0					
HONDA XR1090L	2019-04-09	4,717		ADS	5.000000000000	472	0	0					
HONDA XR1090L	2019-04-09	4,717		ADS	5.000000000000	472	0	0					
HONDA XR1090L	2019-04-09	4,717		ADS	5.000000000000	472	0	0					
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0					
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0					
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0					
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0					
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0					
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0					
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.00000000000	386	0	0					
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0					

Depreciation Schedule												
Description of Property	Date Acquired	Cost or Other Basis	Prior Years' Depreciation	Computation Method	Rate / Life (# of years)	Current Year's Depreciation Expense	Net Investment Income	Adjusted Net Income	Cost of Goods Sold Not Included			
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0				

	Depreci	ation Schedule							
Description of Property	Date Acquired	Cost or Other Basis	Prior Years' Depreciation	Computation Method	Rate / Life (# of years)	Current Year's Depreciation Expense	Net Investment Income	Adjusted Net Income	Cost of Goods Sold Not Included
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,856		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	2019-09-12	3,857		ADS	5.000000000000	386	0	0	

Description of

Property
MINDRAY DP-30

Cost or Other

Basis

3.857

3,857

2,199

745

Prior Years'

Depreciation

Date

Acquired

2019-09-12

2019-09-12

2019-09-12

2019-07-01

Computation Method

ADS

ADS

ADS

ADS

Rate /

Life (# of years)

5.000000000000

5.000000000000

5.000000000000

5.000000000000

Current Year's

Depreciation

Expense

386

386

220

75

Net Investment

Income

Adjusted Net

Income

Cost of Goods

Sold Not

Included









BUTTERFLY IQ-HAND

HELD SONO MACHINE

LAPTOP - KENYA

MACHINE

# TY 2019 Expenditure Responsibility Statement

efile GRAPHIC print - DO NOT PROCESS | As Filed Data -

Name: CARIS FOUNDATION INTERNATIONAL

EIN: 20-1400003										
Grantee's Name	Grantee's Address	Grant Date	Grant Amount	Grant Purpose	Amount Expended By Grantee	Any Diversion By Grantee?	Dates of Reports By Grantee	Date of Verification	Results of Verification	
FONDATION CARIS	55 MAIN STREET SUITE 200 COLLEYVILLE, TX 76034	2019-02-25	30,501	THE MISSION OF FONDATION CARIS ("FC") IS TO HELP THOSE IN NEED AND STRENGTHEN COMMUNITIES BY PROVIDING DIRECT SERVICES TO MEET MEDICAL, HOUSING, NUTRITIONAL, AND WELL-BEING NEEDS. FC OPERATES IN HAITI. THE ORGANIZATION BEGAN ITS OPERATIONS ON JULY 3, 2019.	15,518	NONE	JULY 2020	2020-07-02		

DLN: 93491321036800

# TY 2019 Land, Etc. Schedule

Name: CARIS FOUNDATION INTERNATIONAL

**EIN:** 26-1488005

Category / Item Cost / Other Accumulated Book Value End of Yea											
Category / Item	Basis	Depreciation	BOOK Value	End of Year Fair Market Value							
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
HONDA XR190L RED	4,779	2,485	2,294								
2017 TOYOTA LANDCRUISER VIN #285128	51,881	26,978	24,903								
2017 TOYOTA LANDCRUISER VIN #285129	51,881	26,978	24,903								
2017 TOYOTA LANDCRUISER VIN #285130	51,881	26,978	24,903								
2018 TOYOTA LANDCRUISER VIN #286668	51,881	26,978	24,903								
2018 TOYOTA LANDCRUISER VIN #286669	51,881	26,978	24,903								
2018 TOYOTA LANDCRUISER VIN #287416	51,881	26,978	24,903								
2018 TOYOTA LANDCRUISER VIN #287417	51,881	26,978	24,903								
2018 TOYOTA LANDCRUISER VIN #287418	51,881	26,978	24,903								
2018 TOYOTA LANDCRUISER VIN #287419	51,881	26,978	24,903								
2018 TOYOTA LANDCRUISER VIN #287420	51,881	26,978	24,903								

Category / Item	Cost / Other Basis	Accumulated Depreciation	Book Value	End of Year Fair Market Value
2018 TOYOTA LANDCRUISER VIN #287421	51,881	26,978	24,903	
2018 TOYOTA LANDCRUISER VIN #287422	51,881	26,978	24,903	
2018 TOYOTA LANDCRUISER VIN #287423	51,881	26,978	24,903	
2018 TOYOTA LANDCRUISER VIN #287424	51,881	26,978	24,903	
2018 TOYOTA LANDCRUISER VIN #287425	51,881	26,978	24,903	
2018 TOYOTA LANDCRUISER VIN #287426	51,881	26,978	24,903	
2018 TOYOTA LANDCRUISER VIN #287427	32,611	16,958	15,653	
2018 TOYOTA LANDCRUISER VIN #287428	32,611	16,958	15,653	
2018 TOYOTA LANDCRUISER VIN #287429	32,611	16,958	15,653	
2018 TOYOTA LANDCRUISER VIN #287430	33,404	17,370	16,034	
2018 TOYOTA LANDCRUISER VIN #287431	33,404	17,370	16,034	
2018 TOYOTA LANDCRUISER VIN #287432	33,404	17,370	16,034	
2018 TOYOTA LANDCRUISER VIN #286248	33,404	17,370	16,034	
2018 TOYOTA LANDCRUISER VIN #286249	33,404	17,370	16,034	
2018 TOYOTA LANDCRUISER VIN #286250	33,404	17,370	16,034	
2018 TOYOTA LANDCRUISER VIN #286251	33,404	17,370	16,034	
2018 TOYOTA LANDCRUISER VIN #286254	33,404	17,370	16,034	
2018 TOYOTA LANDCRUISER VIN #287019	33,404	17,370	16,034	
2018 TOYOTA LANDCRUISER VIN #287021	33,404	17,370	16,034	
2018 TOYOTA LANDCRUISER VIN #287022	33,405	17,371	16,034	
2018 TOYOTA LANDCRUISER VIN #287023	33,405	17,371	16,034	
2018 TOYOTA LANDCRUISER VIN #287024	33,405	17,371	16,034	
2018 TOYOTA LANDCRUISER VIN #287026	33,405	17,371	16,034	
2018 TOYOTA LANDCRUISER VIN #287027	33,405	17,371	16,034	
2018 TOYOTA LANDCRUISER VIN #287688	33,405	17,371	16,034	
2018 TOYOTA LANDCRUISER VIN #287689	33,405	17,371	16,034	
2018 TOYOTA LANDCRUISER VIN #287690	33,405	17,371	16,034	
2018 TOYOTA LANDCRUISER VIN #287696	33,405	17,371	16,034	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	

Category / Item	Cost / Other Basis	Accumulated Depreciation	Book Value	End of Year Fair Market Value
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEMMINDRAY DP-PORTABLE ULTRASOUND SY	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEMMINDRAY DP-PORTABLE ULTRASOUND SY	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
MINDRAY DP-PORTABLE ULTRASOUND SYSTEM	3,960	2,059	1,901	
KENYA- PROPERTY AND EQUIPMENT VEHICLE 2018	19,771	10,281	9,490	
KENYA- PROPERTY AND EQUIPMENT VEHICLE 2018	18,935	9,846	9,089	
KENYA- PROPERTY AND EQUIPMENT COMPUTER 2018	1,095	569	526	
HONDA XR1090L	4,717	472	4,245	
HONDA XR1090L	4,717	472	4,245	
HONDA XR1090L	4,717	472	4,245	
HONDA XR1090L	4,717	472	4,245	
HONDA XR1090L	4,717	472	4,245	
HONDA XR1090L	4,717	472	4,245	
HONDA XR1090L	4,717	472	4,245	
HONDA XR1090L	4,717	472	4,245	
HONDA XR1090L	4,717	472	4,245	

Category / Item	Cost / Other Basis	Accumulated Depreciation	Book Value	End of Year Fair Market Value
HONDA XR1090L	4,717	472	4,245	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	

Category / Item	Cost / Other Basis	Accumulated Depreciation	Book Value	End of Year Fair Market Value
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,856	386	3,470	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
MINDRAY DP-30 PORTABLE SONOGRAM MACHINE	3,857	386	3,471	
BUTTERFLY IQ-HAND HELD SONO MACHINE	2,199	220	1,979	
LAPTOP - KENYA	745	75	670	

efile GRAPHIC print - DO NOT PROCE	ESS As Filed Data	-	DLN	I: 93491321036800
TY 2019 Legal Fees Sched	ule			_
Na	me: CARIS FOUN	NDATION INTERNA	TIONAL	
E	EIN: 26-1488005			
Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
LEGAL FEES	11,502	0	0	11,502

effile GRAPHIC print - DO NOT PROCESS	AS Filed Data -	DLN: 93491321036800

## **TY 2019 Other Assets Schedule**

Name: CARIS FOUNDATION INTERNATIONAL

**EIN:** 26-1488005

Other Assets Schedule			
Beginning of Year - Book Value	End of Year - Book Value	End of Year - Fair Market Value	
834	839	839	
18,000	0	0	
68,507	46,142	46,142	
	3,700	3,700	
	18,000	18,000	
	4,954	4,954	
	834 18,000	Book Value         Value           834         839           18,000         0           68,507         46,142           3,700         18,000	

efile GRAPHIC print - DO NOT PROCESS	As Filed Data -		DLN	: 93491321036800	
TY 2019 Other Expenses Schedule					
Name:	CARIS FOUNDA	TION INTERNATI	ONAL		
EIN:	26-1488005				
Other Expenses Schedule		ī			
Description	Revenue and Expenses per	Net Investment Income	Adjusted Net Income	Disbursements for Charitable	

450,117

668,152

2,317

1,017

7,586

6,932

230

109

3,863,496

22,206,721

0

0

0

0

0

0

0

0

Purposes

0

450,117

668,152

2,317

1,017

7,586

6,932

230

109

3,863,496

22,206,721

Books

PROJECT EXPENSES - HAITI (BEST)

PROJECT EXPENSES - HAITI (SANTE)

PROJECT EXPENSES - KENYA

PROJECT EXPENSES - OVCII

DUES AND SUBSCRIPTIONS

OFFICE SUPPLIES

TUITION EXPENSE

**EQUIPMENT RENTAL** 

INSURANCE

REPAIRS

Description

Revenue and Expenses per Income Income Disbursements for Charitable Purposes

546

MEALS	296	0	0	296
UTILITIES	5,745	0	0	5,745

546

Other Expenses Schedule

BANK SERVICE FEES

efile GRAPHIC print - DO NOT PROCESS	DI	LN: 93491321036800		
TY 2019 Other Liabilities Schedule				
Name: CARIS FOUNDATION INT	ERNATIONAL			
<b>EIN:</b> 26-1488005				
Description	Beginning of Year - Book Value	End of Year - Book Value		
PAYROLL LIABILITIES	93,454	92,035		
ACCRUED AUDIT FEES	0	2,289		
DEFERRED REVENUE	0	897,029		

efile GRAPHIC print - DO	NOT PROCESS As Filed Data	-		DLN: 93491321036800
Schedule B	Sched	dule of Contributors		OMB No. 1545-0047
(Form 990, 990-EZ, or 990-PF) Department of the Treasury Internal Revenue Service		to Form 990, 990-EZ, or 990-PF. .gov/Form990 for the latest inform	nation.	2019
Name of the organization CARIS FOUNDATION INTER	NATIONAL		Employer i	dentification number
Organization type (chec			26-1488005	5
organization type (oneo	K Olloj.			
Filers of:	Section:			
Form 990 or 990-EZ	501(c)( ) (enter number)	) organization		
	4947(a)(1) nonexempt ch	aritable trust <b>not</b> treated as a p	rivate foundation	
	☐ 527 political organization			
Form 990-PF	501(c)(3) exempt private	foundation		
	4947(a)(1) nonexempt ch	aritable trust treated as a privat	te foundation	
	501(c)(3) taxable private	foundation		
	ion filing Form 990, 990-EZ, or 990 property) from any one contributor.			
Special Rules				
under sections 50 received from any	on described in section 501(c)(3) fili 9(a)(1) and 170(b)(1)(A)(vi), that ch one contributor, during the year, to 1h, or (ii) Form 990-EZ, line 1. Co	hecked Schedule A (Form 990 options of the greater	or 990-EZ), Part II, line 13	, 16a, or 16b, and that
during the year, to	on described in section 501(c)(7), (8 otal contributions of more than \$1,0 ne prevention of cruelty to children	00 <i>exclusively</i> for religious, cha	ritable, scientific, literary,	
during the year, c If this box is chec purpose. Don't co	on described in section 501(c)(7), (8 contributions exclusively for religious ked, enter here the total contribution implete any of the parts unless the 6 le, etc., contributions totaling \$5,00	s, charitable, etc., purposes, bu ns that were received during the <b>General Rule</b> applies to this or	t no such contributions tot e year for an e <i>xclusively</i> re ganization because it rece	aled more than \$1,000. eligious, charitable, etc., eived <i>nonexclusively</i>
990-EZ, or 990-PF), but i	that isn't covered by the General F must answer "No" on Part IV, line rt I, line 2, to certify that it doesn't n	2, of its Form 990; or check the	e box on line H of its Form	rm 990, 1 990-EZ
For Paperwork Reduction Action Form 990, 990-EZ, or 990	t Notice, see the Instructions PF.	Cat. No. 30613X	Schedule B (Form 996	0, 990-EZ, or 990-PF) (2019)

(b) Name, address, and ZIP + 4

(b)

Name, address, and ZIP + 4

(b)

Name, address, and ZIP + 4

(a)

No.

(a)

No.

(a)

No.

**Employer identification number** 26-1488005

al spa	ace is needed.	
	(c) Total contributions	(d) Type of contribution
		✓ Person
		 ☐ Payroll
	\$ 1,635,000	☐ Noncash
		(Complete Part II for noncash contributions.)
	(c) Total contributions	(d) Type of contribution
		<b>✓</b> Person
		— ☐ Payroll
	\$ 23,753,092	☐ Noncash
		(Complete Part II for noncash contributions.)
	(c)	(d)
	Total contributions	Type of contribution
		Person
	\$ 2,494,684	☐ Payroll
		<b>✓</b> Noncash
		(Complete Part II for noncash contributions.)
	(c) Total contributions	(d) Type of contribution
		Person
		Payroll
	\$	Noncash
		(Complete Part II for noncash contributions.)
	(c) Total contributions	(d) Type of contribution
		Person
	_	Payroll
	\$	Noncash
		(Complete Part II for noncash contributions.)
	(c) Total contributions	(d) Type of contribution
		Person
		☐ Payroll
	\$	☐ Noncash
		(Complete Part II for noncash contributions.)

Schedule B (Form 990, 990-EZ, or 990-PF) (2019)

Schedule	B (Form 990, 990-EZ, or 990-PF) (2019)			Page <b>4</b>
Name of organization CARIS FOUNDATION INTERNATIONAL				Employer identification number 26-1488005
Part III	Exclusively religious, charitable, etc., contributions to organizations described in section 501(c)(7), (8), or (10) that total more than \$1,000 for the year from any one contributor. Complete columns (a) through (e) and the following line entry. For organizations completing Part III, enter the total of exclusively religious, charitable, etc., contributions of \$1,000 or less for the year. (Enter this information once. See instructions.) > \$ Use duplicate copies of Part III if additional space is needed.			
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift		(d) Description of how gift is held
	Transferee's name, address, and ZIP 4		ransfer of gift Relat	ionship of transferor to transferee
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift		(d) Description of how gift is held
	(e) Transfer of gift Transferee's name, address, and ZIP 4 Relationsh			ionship of transferor to transferee
(a) No. from Part I	(b) Purpose of gift	c) Use of gift		(d) Description of how gift is held
	Transferee's name, address, and ZIP 4		ransfer of gift Relationship of transferor to transferee	
(a) No. from Part I	(b) Purpose of gift	c) Use of gift		(d) Description of how gift is held
	(e) Transfer of gift Transferee's name, address, and ZIP 4			ionship of transferor to transferee
			So	thedule B (Form 990, 990-EZ, or 990-PF) (2019)